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.31 =M._32

M._mOO = M._mO1 = M._m02 =
M. _ml10 = M._ml11 = M._ml2 =
M._m20 = M._m21 = M._m22 =
M. _m30 = M._m31 = M._m32 =

.33 = M._

M._m03 =

M. _ml3
M._m23

M. _m33 =

.0f;
.0f;
.0f;
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vector ithRow = M[i];
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vector u = {0.6F, 0.3F, 1.0f, 1.0f};
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vector v = {1.0F, 5.0F, 0.2f, 1.0f};
vector u = vector(0.6f, 0.3f, 1.0f, 1.0F);
vector v = vector(1.0f, 5.0F, 0.2Ff, 1.0F);
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float2x2 2x2 = float2x2(1.0f, 2.0F, 3.0Ff, 4.0F);

int2x2 m = {1, 2, 3, 4};
int n = Iint(5);

int a = {6};

float3 x = float3(0, 0, 0);
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float M[4][4]:
half p[4];
vector v[12];



